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Multiple Choice:
5 x 2 – 6 ÷ 2 = ____

(A) 2
(B) 7
(C) 9
(D) 10

Task: 
The expression
4 x 3 + 5 – 2 equals 15.
Copy this same expression 
and add one or more sets 
of parentheses so that the 
expression equals 30.

Multiple Choice:
(8 – 2) – 3 x 2 = ____

(A) 0
(B) 2
(C) 4
(D) 6

Task: 
The expression
8 + 4 ÷ 4 – 1 equals 8. 
Copy this same expression 
and add one or more sets 
of parentheses so that the 
expression equals 4.

(A) 3
(B) 5
(C) 7
(D) 9

Multiple Choice:
10 – (5 – 2 x 1) = ____

Task: 
The expression
5 x 2 + 4 ÷ 2 equals 12.
Copy this same expression 
and add one or more sets 
of parentheses so that the 
expression equals 15.

(A) 0
(B) 2
(C) 3
(D) 18

Multiple Choice:
36 ÷ 6 – (12 ÷ 3) = ____

Task: 
The expression
16 + 8 ÷ 4 – 2 equals 16.
Copy this same expression 
and add one or more sets 
of parentheses so that the 
expression equals 20.
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Answers Answers

Answers Answers

Multiple Choice:
(C) 7

Task:
Possible answers:
5 x (2 + 4) ÷ 2 or 
(5 x (2 + 4)) ÷ 2

Multiple Choice:
(B) 2

Task:
Possible answers:
16 + 8 ÷ (4 – 2) or
16 + (8 ÷ (4 – 2)) 

Multiple Choice:
(A) 0

Task:
Possible answer:
(8 + 4) ÷ (4 – 1)

Multiple Choice:
(B) 7

Task:
Possible answers:
4 x (3 + 5) – 2 or 
(4 x (3 + 5)) – 2
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